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Section s:=“UPN320” with steel grade gr:=‘S355”

Partial safety factors according to Eurocode 1993:
vuo:=1.00 yur:=1.10 yuzi=1.25

s:=pol_sec (s)

Toect=ITsec(s)=10870 cm*

Qsec::Asec(S):75-8 sz YCS.sec::ys_sec( ) 26 mm

3 ZCM.sec:: Zs.sec(s) O mm
Wsec:: el.sec(s):679 cm

.YCM.sec::.Ym.sec(S) 48 2 mm

hsec(s)
YSec::T:].GO mm .
Ayi=A,, soc(s)=47.1 cm?  —
bseci=bsec(s)=100 mm
toec=tr. sec(s)=17.5 mm + .
Ssect= ty.sec(s) =14 mm
Boeei=hgeo(s)=320 mm B E—
Iseoi=Tsoc(s)=17.5mm ryi=r, ..0(s)=8.8 mm
Yield Stress f,:=f, ...(s,gr)=355 m_rl:z_ £.,=210 ml:nN2

_ t, N
Design Stress f,:=——=355

Ymo mm

Axial Capacity (eq 6.6 and 6.10) N,; zg. seci=Qsec* £5=2690.9 kN

2

Bending Capacity (eq. 6.13) Mpy soci= g Weee=241.05 kN-m

Shear Capacity (eq- 6.18) Vgry seci=Aye < —965.36 kN

V3

Y —322.73 N
Ym1 mm

Axial Capacity (eq 6.6 and 6.10) N, zg seci=Qsec £4=2446.273 kN

Design Stress r,:=

2

Bending Capacity (eq. 6.13) Mpy sooi= g Weee=219.13 kNem

Shear Capacity (eq. 6.18) Vgy coci=Ape < =877.6 kN

V3

_ £, N
Design Stress f,:=——=284

Ym2 mm

Axial Capacity (eq 6.6 and 6.10) N.; zg. seci=Qscct £4=2152.72 kN

2

Bending Capacity (eq. 6.13) Mpy soni=Tq*Wsee=192.84 KN+m

Shear Capacity (eq. 6.18) Viy coci=Ape 2 =772.29 kN

V3
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